[01~03] [ )Qtof] AU +E MNEoN Q.

01 L5+03:£%%1+{%=E:3+3:Ej

024&@&L%1+%4:j4343
L)

03 162+-27= T +ﬁ_[ = =)

[04 ~12] Aliksl EAM 1.

04 05 06

0.7)2.8 0.6)4.2 1.2)7.2
07 08 09

0.8)7.2 1.6)3 6.8 4.3)6 4.5
10 11 12

1.6)4 3.2 2.8)4 7.6 3.6)8 2.8



[13~20] R17H0f] ¥HUZ =5 M'2 24 8.

13

208
/ \
5.6
15 ~1.4
e N
11.2
17 ~ 2.7
e N
37.8
19 ~1.8
e N
43.2

21 WAL 2712 Moz olo] wAQ.

20.8-0.8

18 22

14

16

18

20

25.2+-14

=0.9
/ \
5.4

- 2.6
i ~N
23.4

= 0.7
pal ~N
13.3

24
7~ ~N
79.2

54.4=1.6
20 34



[01~03] [ )Qtof] AU +E MNEoN Q.

15
01 15+03 :+ 1%:+ 3=(5)

45

02 45+05 :1!0+ 1—50:+:@
162 |

03 162+27= 10 +%:[ 162 |+ 27 |=(6]

[04 ~12] Aliksl EAM 1.

04 4 05 .
0.7)2.8 0.6/4.2

07 9 08 5 3
0.857.2 1.6)3 6.8

10 9 7 11 =
1-6)4 3.2 2.8)4 7.6

06 6
1.2)7.2

09 15
4.3)6 4.5

3.6)8 2.8



[13~20] R17H0f] ¥HUZ =5 M'2 24 8.

13 14

5.6 7 5.4 6
15 14 16 9.6
-~ N -~ i
11.2 8 93.4 9
17 =97 18 =0.7
37.8 14 13.3 19
19 1.8 20 94
43.2 924 79.2 33
21 TAYE Z7)2] XNlog ojo] HAIQ.
20.8 + 0.8 925.2 - 1.4 54.4 1.6

N\

18 22 26 34



02 11.68=1.46=

100

) 20 e=()

100

03 30.52+7.63 L . 703 = |+763=

100~ 100

[04 ~12] H|AkH EM Q.
04 05 06

0.15)1.0 5 0.34)4.0 8 0.12)1.0 8
07 08 09

0.13)0.7 8 0.53)3.1 8 0.21)4.4 1
10 11 12

0.46)1 2.8 8 1.28)1 6.6 4 9.74)4 3.8 4



[13~20] R17H0f] ¥HUZ =5 M'2 24 8.

13 768 14 1377
'Y Y
- 0.96 - 0.81
1< 1<
15 9.8 16 16.05
N Y
- 0.76 - 1.07
/4 4 \
17 2187 18 20.68
"y N
- 943 = 0.04
1 1<
19 46.98 20  40.25
1/ Yy
- 1.74 - 115
1< 1<
[21~22] (0 QO >, =, <EB LA M2oN 8.
21 6o4-078 756084 22 9598158

20.44 - 1.46



(1168 | 146 _

02 11.68=1.46=

100 © 100
3052 |
03 30.52+7.63=-+ 763 _
100 100
[04 ~12] AlASH 2AM 8.
04 7 05 192
0.15)1.0 5 0.34)4.0 8
07 6 08 6
0.13)0.7 8 0.53)3.1 8
10 11

28
0.46)1 2.8 8

13
1.28)1 6.6 4

168 )+ 146=3)

[ 3052 |+ 763=[4]

06

09

12

9
0.12)1.0 8

21
0.21)4.4 1

16
2.74)4 3.8 4



[13~20] R17H0f] ¥HUZ =5 M'2 24 8.

13 768 14 1377
'Y Y
- 0.96 - 0.81
1< 1<
8 17
15 9.8 16 16.05
N Y
- 0.76 - 1.07
/4 4 \
13 15
17 2187 18 20.68
"y N
- 943 = 0.04
1 1<
9 99
19 46.98 20  40.25
1/ Yy
- 1.74 - 115
1< 1<
97 35
[21~22] (0 QO >, =, <EB LA M2oN 8.
21 6o4-078 756084 22 9598158
— 16

=8

>

20.44 - 1.46

=14



